1. Let
$$(x_{3},y_{3}) \in \mathbb{E}^{2}$$
 s.t. $x_{3}^{2}+y_{3}^{2}<4$.

$$\frac{\mathrm{TF}}{\mathrm{C}(x_{3},y_{3})} \in \mathrm{N}_{S} (x_{0},y_{3}) \text{ Hen } |(x_{1}y_{3})| \leq |(x_{2},x_{0},y_{3},y_{0})| + |(x_{0},y_{0})| (\operatorname{trangle} \operatorname{ine} p)}{\leq S_{1}}$$

$$\frac{\mathrm{TF}}{\mathrm{C}(x_{1},y_{1})} \in \mathrm{N}_{S} (x_{0},y_{3}) = 0 \text{ so } |(x_{1}y_{1}y_{1})| \leq 2, \qquad (1)$$

$$\frac{\mathrm{C}(x_{1},y_{1})}{2} = \frac{\mathrm{C}(x_{1},y_{1})}{2} = 0 \text{ so } \frac{\mathrm{C}(x_{1},y_{1})}{2} + \frac{\mathrm{C}(x_{1},y_{$$

e)
$$\lim_{x \to 0} f(x_1 o) = 0 + \lim_{x \to 0} F(x_1 3x) = \frac{3(3-1)(g-4)}{(1+3^6)}$$
so does not exist.

$$\frac{1}{x \to 0} = \frac{7x^6}{x^4 + y^4}$$

$$\leq \frac{7x^2 - x^4}{x^4 + y^4} \leq \frac{7x^2}{x^4 + y^4} \leq \frac{7x^4}{x^4 + y^4} = \frac{7(x^4 + y^4)^{1/4}}{x^4 + y^4} = \frac{7(x^4 + y^4)^{1/4}}{x^4 + y^4}$$

$$P + ourided = \sqrt{x^2 + y^2} \leq \frac{7}{2} = \frac{1}{27} \cdot \frac{(x^2 + y^2)^{2/4}}{x^4 + y^4} = \frac{7(x^4 + y^4)^{1/4}}{x^4 + y^4}$$

$$P + ourided = \sqrt{x^2 + y^2} \leq \frac{7}{2} = \frac{1}{27} \cdot \frac{(x^2 + y^2)^{1/2}}{x^4 + y^4} = \frac{7(x^4 + y^4)^{1/4}}{x^4 + y^4}$$

$$P + ourided = \sqrt{x^2 + y^2} \leq \frac{7}{2} = \frac{1}{27} \cdot \frac{(x^2 + y^2)^{1/2}}{x^4 + y^4} = \frac{7(x^4 + y^4)^{1/4}}{x^4 + y^4}$$

$$P + ourided = \sqrt{x^2 + y^2} < \frac{7}{2} = \frac{1}{27} \cdot \frac{(x^2 + y^2)^{1/2}}{x^5 + x^2} = \frac{7}{2} \cdot \frac{7}{2} + \frac{7}{2}$$

$$\frac{1}{2} \int \frac{1}{2} \frac{(x^2 + y^2)^{1/2}}{x^2 + y^2} < \frac{7}{2} = \frac{1}{2} \cdot \frac{x^2 + x^2}{x^2 + y^2} = \frac{1}{2} \cdot \frac{1}{2$$

$$\begin{aligned} \begin{array}{l} \begin{array}{l} \exists f = \frac{\partial f}{\partial t} (1 - s^{2} - t^{2}, t^{3} + s^{3}) \frac{\partial x}{\partial t} + \frac{\partial f}{\partial y} (1 - s^{2} - t^{2}, t^{3} + s^{3}) \frac{\partial y}{\partial t} \\ &= -2t \frac{\partial f}{\partial x} (1 - s^{2} - t^{2}, t^{3} + s^{3}) + 3t^{2} \frac{\partial f}{\partial y} (1 - s^{2} - t^{2}, t^{3} + s^{3}) \\ & At s = 0, t = 1 \quad \text{one} \quad gets \quad \frac{\partial z}{\partial t} (0, 1) = -2 \frac{\partial f}{\partial x} (0, 1) + 3 \frac{\partial F}{\partial y} (0, 1) \\ &= -2x8 + 3x9 = 11. \end{aligned}$$

When $s = t = 0$, $\frac{\partial z}{\partial t} (0, 0) = 0$.

8) A) Assuming
$$w = w(y_1z) \quad f(x = x(y_1z)); \quad \text{taking } \frac{\partial}{\partial y} \quad \text{we get}$$

$$\int 0 = \frac{\partial x}{\partial y} y + x + 2z^2 w \frac{\partial w}{\partial y} \quad (1);$$

$$\int 0 = \frac{\partial x}{\partial y} z + 2y w \frac{\partial w}{\partial y} + 2y w^2 \quad (2)$$

Taking
$$Z_{*}(1) - \gamma_{*}(2)$$
 one gets

$$0 = 2cz + 2z^{3}w \frac{\partial w}{\partial y} - 2\gamma^{2}w \frac{\partial w}{\partial y} - 2\gamma^{2}w^{2}$$
Sor $\frac{\partial w}{\partial y} c_{\gamma,2}(1) = \frac{2w^{2}\gamma^{2} - 2z}{2w(z^{3} - \gamma^{2})}$

b) observe that at
$$(1,q,1,1)$$
 the denum up there is 0.
Indeed, our assumption cannot be done there, because if we call
 $F(w,x,y,z) = xy+z^2w^2-1$
 $G() = x^2+y^2w^2-1$
thenore has $\left(\frac{\partial F}{\partial w} - \frac{\partial F}{\partial x}\right) = \begin{pmatrix} 2wz^2 & y \\ 2wy^2 & z \end{pmatrix} = \begin{pmatrix} 2 & 1 \\ 2 & 1 \end{pmatrix}$
has determinant 0. The IFT cannot apply in these variables
there.

 \rightarrow

9

(5)
(5)
(6)
$$(x,y) = \frac{x^5}{x^4 + y^2}$$
 and $\frac{\partial F}{\partial x}$, $\frac{\partial F}{\partial y}$ exist by diff. of a
quotient whose denom. due not cancel.
(5)
(5) $(x,y) = \frac{1}{x^4 + y^2}$
(6) $(x,y) = \frac{1}{x^4 + y^2}$
(6) $(x,y) = \frac{1}{x^4 + y^2}$
(6) $(x,y) = \frac{1}{x^4} + \frac{1}{y^4}$
(6) $(x,y) = \frac{1}{x^4} + \frac{1}{y^4} = \frac{1}{x^4} + \frac{1}{y^4} = \frac{1}{x^4} = \frac{1}{x^4} + \frac{1}{y^4} = \frac{1}{x^4} = \frac{1}{x^4} + \frac{1}{y^4} = \frac{1}{x^4} = \frac{1}{x^4} + \frac{1}{x^4} = \frac{1}{x^4} + \frac{1}{x^4} = \frac{1}{x^4}$

For
$$x4z$$
, $det\left(\begin{array}{c} F_{x} & F_{z} \\ G_{x} & G_{z} \end{array}\right)_{I(Q,Q)} = bl\left(\begin{array}{c} 1 & 1 \\ 1 & 2 \end{array}\right) \neq 0$, yes .
For $y4z$, $det\left(\begin{array}{c} F_{y} & F_{z} \\ G_{y} & G_{z} \end{array}\right)_{I(Q,Q)} = bl\left(\begin{array}{c} 1 & 1 \\ 2 & 2 \end{array}\right) = 0$, $\underline{H}m \ dves \ not \ apply$.
11) $f is le^{1} on lE^{2} and $\overrightarrow{\nabla} f(x_{1}y) = \begin{pmatrix} 6xy - l2x \\ 3y^{2} + 3x^{2} - l2y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$
if and only if $\int (5x(y-2)) = 0$
 $3y(y-4) = -3x^{2}$
Possible solutions $x = 0$, $y=0 \ or 4$.
 $y=2$, $-3x^{2} = -l2$, so $x = \pm 2$.
Le $(0, 0)$; $(0, 4)$; $(2, 2)$; $(-2, 2)$
 $H f(x_{1}y) = \begin{pmatrix} 6y-12 & G_{x} \\ 6x & G_{y-12} \end{pmatrix}$
 $Al (0, 0)$; $H f(0, 0) = \begin{pmatrix} -l2 & 0 \\ 0 & -l2 \end{pmatrix}$; eigenvolves are $= l120$ or $[0, 0]$ is a p¹
 $Prodet(M-\lambda T_{2}) = \begin{pmatrix} 12 & 0 \\ 0 & 12 \end{pmatrix}$ $= M$
 $det(M-\lambda T_{2}) = \begin{pmatrix} -12 \\ lk \\ -k \end{pmatrix} = M^{2}$$